AUTOMATIC

DOOR
@ SPECIALISTS

»BARRA DE PANICO HORIZONTAL AJUSTABLE Y REVERSIBLE ACABADO
PINTURA GRIS O ACERO INOXIDABLE MARCA ADS MOD. UL5000HP / UL5100HS.

S

l®JL PANIC EXIT DEVICE

MANUAL DE INSTALACION

n Digital.

portonesautomaticos@adsver.com.mx
461 ?028 D portonesautomaticos@prodigy.net.mx




MANUAL DE INSTALACION
A IDENTIFICATION OF PARTS IF DOOR IS LESS THAN 36", REMOVE

END COVER AND CUT SECTION "A"

BODY TO DESIRED LENGTH.
/1
7 : 1[ S
\\ ‘\ iij—
y ACTUATING BAR  DOGGING DEVICE

HEAD COVER
)

1/4"-20P x 3/4" (3 PCS) 1/4"-20P x 3/4” (6 PCS) Double Door Strike
FLAT HEAD ROUND HEAD

= @ () MACHINE SCREWS 5
_——
g

DOGGING WRENCH END COVER

© 4 I @
S ©
(-
‘___—-———__-
( Not Included-Must

be ordered separately)

STRIKE SHIM END COVER MOUNTING ( for use on Rim x Vertical
ROLLER STRIKE BRACKET Rod applications)

TYPE OF INSTALLATION

A. SINGLE DOOR B. DOUBLE DOOR WITH MULLION C. DOUBLE DOOR WITHOUT MULLION
r | 1 y i '_1|w_‘
g e —|
i DOUBLE DOOR STRIKE
27186" 27M16" 25/8"

0 S DRILL & TAP FOR (6] 144" x 20 MACHINE SCREWS FOR EXIT DEVICE AND <:| FOLD HERE FROM JAMB
DRI LL H LE DRILL & TAP FOR {3) 1/4" x 20 MACHINE SCREWS FOR ROLLER STRIKE.
OPTIONAL :

a

N

DRILL {6} 7/32" PILOT HOLES FOR SELF TAPPING MACHINE SCREWS OR . q
1.USE TEMPLATE ENCLOSED WOOD SCREWS FOR EXIT DEVICE - o
DRILL (3) 7/52" PILOT HOLES FOR SELF TAPPING MACHINE SCREWS OR preeve B i CoNTER UNE
TO MARK DOOR FACE AND WOOD SCREWS FOR ROLLER STRIKE

DRILL HOLES IN ACCORDANCE

SUGGESTED

e > i : : \ 2?;';':‘,'5;“"‘ = el
2."B'LENTH SHOULD BE .

MEASURED FROM THE \\ L ’L ﬁﬁgnﬂgam?w

CENTER OF CYLINDER 4’

HOLE TO THE END OF T FORMOUNTING

THE BODY 2 7/16" 21 AN BA—

NOT TO SCALE
mzide face of the door

INSIDE FACE OF THE DOOR INSIDE FACE OF THE DOOR

WITH THE DIAMETERS DO@ JAMB e / XE“" T‘J?*

FAVAVAN

40" ABOVE FLOOR

(229) 927-5107, 167 167-8007, 151-7529. e www.adsver.com.mx



MANUAL DE INSTALACION
D) INSTALL KEY CYLINDER 1INSERT THE CYLINDER

If required or skip to step E g\ggRTHE HOLE ON THE

\\ 2.KEEP THE TAILPIECE
OUTSIDE FACE OF THE DOOR v

AL HORIZONTAL
CYLINDER @
LINER | -—-‘

3. TIGHTEN THE SCREWS

I 9/32"~15/32"
[
INSTALLTION i
\ SCREW
ERCUICHEON TAILPIECE PROJECTION

E] INSTALL BODY

1.REMOVE THE HEAD COVER
AND THE SCREWS ON THE
END COVER .
2.ALIGN THE SCREW HOLES PO
WITH THE HOLES ON THE W%

DOOR

3. TIGHTEN THE SCREWS ON
THE BODY AND THE LINING
OF END COVER

lgn )
o
I
4

r=1

N

INSIDE FACE OF THE DOOR

F) PUT ON BOTH HEAD AND END COVER
B Y

N |: 3 } )
,J )
| N— 1. INSTALL THE HEAD COVER AND END COVER

R 2. INSTALL AND TIGHTEN THE MOUNTING SCREWS
ON THE HEAD COVER AND END COVER.

I

]

3.MARK THE CENTER OF THE 2 ADJUSTABLE SLOTTED HOLES AND DRILL

(Gl INSTALL ROLLER STRIKE <7 Yaciine screvis o NSTALL SELF TAPPING MAGHINE

SCREWS OR WOOD SCREWS IN PILOT HOLES.CLOSE DOOR TO CHECK

1.WITH THE DOOR IN THE CLOSED POSITION MARK
cabbp Ui p Mt Aol pie i i) IF LATCHBOLT EXTENDS PROPERLY, ADJUST ROLLER STRKE IF
AFLAGE RALLER STRIGE QN DOGR JAS, 4WITH ROLLER STRIKE IN FINAL POSITION, DRILL A 7/32" PILOT HOLE FOR
ALIGN CENTER OF ROLLER STRIKE WITH THE THE CENTER MOUNTING HOLE. TAP PILOT HOLE WITH 1/4"-20 THRE.
© - ADS
LATCHBOLT CENTERLINE MARK ON THE JAMB.
THEN ALIGN THE OUTSIDE EDGE OF THE ANELINGTALL MACHING SCREW,
T e o OR INSTALL SELF TAPPING MACHINE SCREW OR 100D SCREW N
THE DOOR JAE. '

3. DRILL 7/32"
HOLE, TAP 4.1/4"-20P
2. ADJUSTABLE 1/47-20P FLAT HEAD
1 JAMB sLoT THREAD SCREW

NOTE : INSTALL STRIKE SHIM UNLESS THE EXIT DEVICE HEAD COVER RUBS THE ROLLER STRIKE.
THEN REMOVE THE STRIKE SHIM TO GAIN ADDITICNAL CLEARANCE.,

(229) 927-5107, 167-8080, 167-8007, 151-7529. : www.adsver.com.mx



MANUAL DE INSTALACION

H OPERATION TEST
\
e} p D\w\ {
g(( 7 O
AFTER INSTALLATION IS COMPLETE PRESS DOWN THE ACTUATING BAR
TO MAKE SURE THE DOOR OPENS AND CLOSES/LATCHES CORRECTLY.
MAKE ANY ADJUSTMENTS AS NEEDED.
NOTICE:
L ]

TO EXTEND THE LIFE OF THIS PANIC DEVICE,
LOCK THE LATCH IN THE RETRACTED
POSITION WHEN DOOR IS IN CONTINUOUS USE.

DOGGING DEVICE ACTUATING BAR

s

$

DOGGING WRENCH

L}
—r———

1

—_]
— T

TO LOCK

HOLD ACTUATING BAR DOWN. TURN DOGGING DEVICE
COUNTER CLOCKWISE WITH DOGGING WRENCH.

TO UNLOCK

HOLD ACTUATING BAR DOWN. TURN DOGGING DEVICE
DEVICE CLOCKWISE WITH DOGGING WRENCH.

(229) 927-5107, 167-8080, 167-8007, 151-7529. Lo www.adsver.com.mx



MANUAL DE INSTALACION

TEMPLATE FOR FOLD HERE FROM JAMB  2009.05A
INSTALLING PANIC EXIT DEVICE i

(+) y
A

" 27732

Outsy/,
S/de face of th,
€ doo, CENTERLINE

]

421/64" T

+ 3 25/32" —+ 25/32"

1 1/4" for Rim cylinder e F|®‘

s
ROLLER

STRIKE HOLE MUST BE DRILLED
ACCORDING TO TRIM
TEMPLATE.

L |

DOOR  JAMB ®

FOR MOUNTING

w N, AN END COVER
. AN BN

NOT TO SCALE
27/16"

< > inside face of the door

(A)For UL500 Series (UL Listed)-Drill & tap for (6) 1/4"x20 machire screws for Exit Device and Drill & tap for (3) 1/4"x20 machine screws for Roller Strike
OPTIONAL for 2000R (UL Listed)
Drill (6) 7/32" Pilot Holes for Self Tapping machine screws or wood screws for Exit Device and
Drill (3) 7/32" Pilot Holes for Self Tapping machine screws or wood screws for Roller Strike

(B)For F5000 (Fire Rated)-Drill 9/32" holes inside and 3/8" holes outside for the (6)thru bolts and drill & tap for (3) 1/4"x20 machine screws for Roller Strike.

40 " ABOVE FLOOR

(229) 927-5107, 167-8080, 167-8007, 151-7529. == www.adsver.com.mx




AUTOMATIC
DOOR
SPECIALISTS

Puertas & Portones Automaticos, S.A. de C.V.
/'/%fe@tﬁa /946’/22?( os la Sotucion!.,..

www.adsver.com.mx



